
1. Divide 44/4= means forty-four objects equally divided into four groups 

44/4=? __________ 

A. 11 

B. 8 

C. 9 

D. 12 

  



Try Again 

  



Correct Go to the Next Question 

 

  



2. Divide 24/3= means twenty-four objects equally divided in three groups. 

24/3=? __________ 

A. 8 

B. 7 

C. 9 

D. 10 

 

 

 

  



Try Again 

  



Correct Go to the Next Question 

  



3. Divide 45/5 means forty-five objects equally divided into five groups 

45/5=? __________ 

A. 8 

B. 9 

C. 3 

D. 10 

  



Try Again 

  



Correct Go to the Next Question 

  



4. Divide 65/5 means sixty-five objects equally divided into five groups. 

65/5=? __________ 

A. 11 

B. 13 

C. 14 

D. 9 

  



Try Again 

  



Correct Go to the Next Question 

 

  



5. 50/5= ______? 

A. 10 

B. 15 

C. 5 

D. 1 

  



Try Again 

  



Correct 


